Place Value w.ocabulary!

O When we mowve to

the left, we are
making the digit 10x

larger e.4:
8 x 10 = 80.

- Ten Thouwsands
1 Thouwsands

0o |Ones

® Decimal paint
—0 Tenths

-) When we .mowve-to

g _J Hundred Thousands

i

O Hundreds

g\J Tens

the right, we are

making the digit +0x (Parts of a
smaller. e.g: whole)

[
(

5000 = |0 = 500:.




ROUNDING

look next door.

Ifit’s 5 or greater
add one more.

Ifit’s less than 5

leave 1t for sure.

Everything after
IS a zero, not more.

|| A Rodnding
6 o ) (Nearest 10)
6136

61 uT0

6 | g A Rodnding

a ﬁlkjo O (Nearest 100)
511 6 2

6127010
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ROUNDING

GARVN

look next door.

Ifit’s 5 or greater
add one more.

Ifit’s less than 5

leave it for sure.

Everything after

1S a zero, not more.



Addition wv.ocaobuloriy:

Addend + Addend = Total
Addend + Addend = Sum

> 2 B / addition

increase  Together

1 1
and | | €

123 + 27 150 sum [ ]/ ps

Pupils in Year 3 w.ork mwith numbers up to Ten thouwsand.
Pupils in Year 4 wwork with rumbers up to One Hundred
thouwsand.

add” . “total



Addition

No carrying

- Start on the right, and mowve to the

+ 1, —

left.
O Add each Adigit that is in the same

coluwmn.




Addition

With .carrying

oL

N

- Start on the right, .and mowve to the
deft.

- Add each digit that is in the same
colurmrn.

o) When your total is .abhove 9, carry the
Tens digit into the .next column and
write it at the top (eg. 2 + 9 = [)




Subtraction ~vocabulory:

Mirwend - Suhbtrahend Difference
3

5 - 2 =
subtraction
difference
befween
[23 - 27 = dé subfrocf decrcase
; 7/ take
reducc \i / /from

Pupils in Year 3 w.ork mwith numbers up to Ten thouwsand. S
Pupils in Year 4 wwork with rumbers up to One Hundred few,_,. Take away

tho | minus



Subtraction

No exchanges

2 (7 - |
i%ﬁi%w't on the right, and move to the
O % © Suhtr

2 \3) same column




| | | | Subteaction

4—5'

- Start on the right, .and move to the left.

——

- Suwbtract each digit that is in the same
column.

@OO>L\
| U(£)

O If you cannot subtract (for example, 4-5),
mone to the next column .and exchange by

subtracting |.

© Bring this into yowr calculation (14-5)
and subtroct.




Subtraction

With exchanges

across 0

1N\

(Ccoluwmn .method)

- Start on the right, .and move to the left.
- Subtract each digit that is in the same
columrn.

@) [} you cannot subtract (for example,
L-5) .mownve to the next column .and

exchange by subtracting |. If there is a O,

monve to the .next .colwmn.

OB,r,Ln,gﬂm,Lrubo,g,ow next column, and if
needed exchange again until you are ot

Mo original colwmn with 0.

R



Subtraction

With exchanges

across 0

J)

(Linked. ?f,aobs)

Subtract 8
from bhoth

numhbers to
make it

N.ow, we

don't have

0| — O
NN O
~O||0Q0 |~

© Sometimes it may be easier to use linked
facts to help with subtroction. Here, we
can subtract 8 from hoth numbers to make

the calculation easier.
- Start on the right, .and move to the left.

-0

Osmmmwuwmmmm
coluwmn.

—

< [+

PN 0

\J/




Multiplication w.o.cabulariy:

Mul,tupl.cocm,d x Multiplier = Product
X Foctor = MuLtLp,Le
5 X 2 = 0 |
multiplication
multi-piie.d by
56 X 2 = ”2 mulTiﬁpIy prqducf

By the end .of the year, pupils in Year 3 should know their g?o._l{ps |

0,1, 2, 5,10, &, 8, 3, 6 .and |2 times tables facts \ |
(multiplication and .division). lots /times
By the end .of the year, pupils in Year 4 should know all of of table
their times tables facts (multiplication and division), up to 12
x 2. :
Times




Multiplication by

10, 100 or 1,000

O Count the numhber of Ok in 10, 100

O Mowne each digit the same numhber

(O Where required, put placeholder 0's

| -
SIS
——&"\'\\j"l/ 2 | ° 1,000
21700 S e o
of places to the loft.
o 151 O in the columns.
5%




Multiplication

wsing linked facts

(multiple ©f 10)

O Multiplying can he simplified hy
- using knowledge of factors. 2
factors of 20 are 'l0" and '2'. When

we multiply by 10 AND 2, this is
the same as multiplying by 20.

multiplier.
O Multiply the product by the second

multiplier.




Multiplication

N.o CAXF Mg

- Start on the right, .and mowve to the left.

c-3) Muléti,pl.gq?adl digit by the Ones digit (e.g.




Multipication

With .carrying

W=

- Start on the right, .and mowve to the left.

O Multiply each digit by the Ones digit (e.g.
2 x b = 8).

G)I; sour product is ahove 9, corry the

Tens digit to the next column (,e.,g. L x 4 =
16).

OTMWMWM&WIM@QM

odded .after aour multiplication (2,.,9. L x 3 =
12. 12 + | = [|3).




Division w.ocabulariy:

Dividend + Divisor = Quotient
10 + 2 = 5
division
56 + 2 = 28
By the end of the year, pupils in Year 3 should know their =
0,1, 2, 5 10, 4, 8, 3, 6 and 12 times tahles facts O

(multiplication .and division).
By the end .of the year, pupils in Year 4 should know all .of :
x 2. O



'

Dividing by 10,

100 or 1,000

© Count the number of 0's in 10,
00 or 1,000.

O Mowne ecach digit the same

number of places to the right.
The decimal point stays in the

O Where required, put a decimal
point after your Ones .column.

.o%o:"{
S L2 O -




> Short Division

No exchanges

) Write your times table to assist you.
- Start on the left, and mowve to the right.

W
O N\O

© Dwvide each digit by the divisor (e.g.

q+3=3)

[ON

FWININN T T

@]
A
—

e rote; Pupils can use EITHER short
ong division to solve questions.




Short Division

With exchanges

3

5

]
/ 2. 2. OWIMWMMMQMWW&.

- Start on the left, and .mowve to the right.

l S g L{' - Divide each digit by the divisor (e.g.
| g 8 + 3=3)
> / O I} you cannct divide it exactly, anything
2l L'L (.e.,g. L8+ 3 = 2 with 2 remainder)
27
30
Please note short

@]
A
—

ong di




L]' g Short Division
g With exchanges
|2 and remainders
[} / - 6 $ . O = g pr / v
7 O L]-Jj/‘g =) Write your times table to assist you.
- Start on the left, and .mowve to the right.
Z (+ - Divide each digit by the divisor (e.g.
2| R |+ 4=0)
7 Oljgﬂammw,t,dwideitgxacwé, arnything
3 remaining gets exchanged to the next .column
36 (eg. | ~ 4 = 0 with | remainder)
(+ 0 @Iaf;afgm,deriﬁ,ieaﬁtm,them,wn}z
| _ this with o r' and then the number.
Please note: Pupils can use EITHER short
OR long ision|to solve questions. ‘ ‘



Division awsing

linked. pacts

(multiple of 10)
|

O Division can sometimes bhe
factors. 2 factors of 20 are 'I0

and '2'. When we divide by 10 AND
2, this is the same as dividing by

20.

@D,bw;dz,t}'lz,p,r,o,dw:t,b,g the second




Lﬂﬂg Div.ision ,b,g

| digits
With. ex.changes

GWrLte,g,ow,tm,talﬂ.e,to

NN
O NN

VeV IIV7 AJOAL.

- Mownve from left to right.
Follow the same .method .as

short division.
QO I the number can he

Adivided, mrite the multiple
underneath .and subtract it.

© Bring your exchange into

the next colwmn and
continue

ON = —0oVlIN o W

N NN — = |~

SRS

- Any remainders can be
written .at the end.

Please rnote

OR long i

== NN



Froction ~v.ocabulariy:

N.umer.ator
The total ruumhber

of parts

Derno.mirnator
The nuumber ,o;

paorts that we
have.

' howve | part. My

rumercator is 1"

"Ln total, there .are
2 parts. The
denominator is 2."



= = | E.quiv.alent
2 E) O | ! Jractions
l %E O Look at the information that syou have
= L= " heen given.
heen wsed.
thing.
%' Z
=5 O\ XS
AIEN M
AN $>
X | \x_;‘i//




S imaliful

|

{ ]

froctions

\ @

O Look at the information that syou have

O Find the highest-common factor of the

numerator and .denominator, e.g.: The

hx,ghzfs.t,co,rmn,on?ﬂa,cto,r of 8 and 12 is

highest- common factor, use a common
factor and then check if iyou can

D
5
Y
S
A2 SN
N4
R | AR %ﬁfﬂfﬁﬁm
%( ..____‘\Ll' /_____‘ Z O If you cannot find the
flx;jé\“)z cio and the
e \=774 i suriner



Adding

e D Fractions
_(:- 1‘ (same
denominators)
- 2 | - §:>_O Add the numerators (the top rumbers).
— O Leave the denomintors (the hottom
5 ) numhbers) the same.




Subtracting

7 — Froctionrs
67 (same
denominators)

© Subtract the numerators (the top
numhers).

O Leave the denomintors (the hottom

numhers) the same.




